
BIOLOGY

BOOKS - MBD -HARYANA BOARD

PRINCIPAL OF INHERITANCE AND

VARIATIONS

Example

1. Mention the advangeages of selecting pea

plant for experiment by Mendel.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gbkJIm6jNRBA


Watch Video Solution

2. Differentiate between the following :

Dominance and Recessive

Watch Video Solution

3. Differentiate between the following :

Homozygous and heterozygous individual

Watch Video Solution

https://dl.doubtnut.com/l/_gbkJIm6jNRBA
https://dl.doubtnut.com/l/_0nhC932Qh6b1
https://dl.doubtnut.com/l/_7cV2qSgL8xze
https://dl.doubtnut.com/l/_GjVbI3Wdn2W3


4. Differentiate between the following :

Monohybrid and dihybrid.

Watch Video Solution

5. A diploid organism is heterozygous for 4

loci,how many types of gametes can be

produced?

Watch Video Solution

https://dl.doubtnut.com/l/_GjVbI3Wdn2W3
https://dl.doubtnut.com/l/_28AADc3CE4kH


6. Explain the Law of Dominance using a

monohybrid cross.

Watch Video Solution

7. Explain a monohybrid cross.

Watch Video Solution

8. Define and design a test − cross?

Watch Video Solution

https://dl.doubtnut.com/l/_VS9kO6gZJbjU
https://dl.doubtnut.com/l/_W9JG8mQRvRIj
https://dl.doubtnut.com/l/_D9qM4pJXd8g3


9. Using a Punnett square, work out the

distribution of phenotypic features in the first

filial generation after a cross between a

homozygous female and a heterozygous male

for a single locus.

Watch Video Solution

10. When a cross is made between tall plant

with yellow seeds (TtYy) and tall plant with

https://dl.doubtnut.com/l/_D9qM4pJXd8g3
https://dl.doubtnut.com/l/_o2nGwWu7A7Sd
https://dl.doubtnut.com/l/_4Asi4ELmn6nl


green seeds(Ttyy),what proportions of

phenotype in the offspring could be expected

to be 

tall and green

Watch Video Solution

11. When a cross is made between tall plant

with yellow seeds (TtYy) and tall plant with

green seeds(Ttyy),what proportions of

phenotype in the offspring could be expected

https://dl.doubtnut.com/l/_4Asi4ELmn6nl
https://dl.doubtnut.com/l/_u6F8qJkPBko0


to be 

drawf and green?

Watch Video Solution

12. Two heterozygous parents are crossed. If

the two loci are linked what would be the

distribution of phenotypic features in 

generation for a dihybrid cross?

Watch Video Solution

F1

https://dl.doubtnut.com/l/_u6F8qJkPBko0
https://dl.doubtnut.com/l/_XVL6pjFCpCSB


13. Briefly mention the contribution of T.H.

Morgan in genetics.

Watch Video Solution

14. What is pedigree analysis?Suggest how

such an analysis can be useful?

Watch Video Solution

15. (a) How is sex determined in humans ?

https://dl.doubtnut.com/l/_5XfgOPKGziyV
https://dl.doubtnut.com/l/_0dHtDzjOQ6it
https://dl.doubtnut.com/l/_YtUHZpXrUOkq


Watch Video Solution

16. A child has blood group O. If the father has

blood group A and mother blood group B,

work out the genotypes of the parents and

the possible genotypes of the other

offsprings.

Watch Video Solution

https://dl.doubtnut.com/l/_YtUHZpXrUOkq
https://dl.doubtnut.com/l/_0Zsdvu9682Hd


17. Explain the following terms with example:

C0-dominance

Watch Video Solution

18. Explain the following terms with example:

Incomplete cominance.

Watch Video Solution

19. What is point mutation? Give one example.

https://dl.doubtnut.com/l/_tEatmB9iVRiE
https://dl.doubtnut.com/l/_h6pSTIpwI7Ly
https://dl.doubtnut.com/l/_P9wBCaRdyCfj


Watch Video Solution

20. Who had proposed the chromosomal

theory of inheritance?

Watch Video Solution

21. Mention any two autosomal genetic

disorders with their symptoms

Watch Video Solution

https://dl.doubtnut.com/l/_P9wBCaRdyCfj
https://dl.doubtnut.com/l/_JUmqoyKx7iQL
https://dl.doubtnut.com/l/_3fDX37DWRp5r
https://dl.doubtnut.com/l/_twtfVVaymCZa


22. Name on trait that does not blend.

Watch Video Solution

23. Give one example of genetic trait for each

of the following in humans:

Lethality

Watch Video Solution

https://dl.doubtnut.com/l/_twtfVVaymCZa
https://dl.doubtnut.com/l/_GkwN7c0Ig32p


24. Give one example of genetic trait for each

of the following in humans:

Multiple allelism.

Watch Video Solution

25. What for symbols AA and Aa stand?

Watch Video Solution

https://dl.doubtnut.com/l/_456yAj7fWD2c
https://dl.doubtnut.com/l/_x8VGcKL4xyNR


26. Mention the phenomenon of pleiotropy by

giving an example.

Watch Video Solution

27. Name the plant that shows incomeplete

dominance in respect of the colour of its

flower.

Watch Video Solution

https://dl.doubtnut.com/l/_5EzTw7lznV0g
https://dl.doubtnut.com/l/_ZXsxuO6P9Zlq


28. Write the genotype of man with blood

group 'A'

Watch Video Solution

29. What will be the genetic make up of an

organism which suffers from sickle cell

anaemia?

Watch Video Solution

https://dl.doubtnut.com/l/_zwn7bHc4gCq1
https://dl.doubtnut.com/l/_oMgl1iQLAm3d


30. What do the symbols square and circle in a

pedigree chart indicate?

Watch Video Solution

31. Why is male Drosophila regarded as

herterogametic?

Watch Video Solution

https://dl.doubtnut.com/l/_m0vNijHW0InH
https://dl.doubtnut.com/l/_MRjb1JB2wFy6


32. What is name of a cross in which white

eyed female are cross with red eyed males?

Watch Video Solution

33. Coin one word or two words equivalents

for the following:

The individuals having characters of both the

parents.

Watch Video Solution

https://dl.doubtnut.com/l/_lyyJk6OHLP1Y
https://dl.doubtnut.com/l/_72vE9K2YCgKU
https://dl.doubtnut.com/l/_dx4hU9OztUmE


34. Coin one word or two words equivalents

for the following:

the cytological manifestations of crossing

durig meiosis.

Watch Video Solution

35. Coin one word or two words equivalents

for the following:

the gametes having genetic constitutions

resembing one or the other parental type.

Watch Video Solution

https://dl.doubtnut.com/l/_dx4hU9OztUmE
https://dl.doubtnut.com/l/_JNmTx1r1curt


36. Coin one word or two words equivalents

for the following:

The basis of failure of two genes to assort

independently.

Watch Video Solution

37. Coin one word or two words equivalents

for the following:

https://dl.doubtnut.com/l/_JNmTx1r1curt
https://dl.doubtnut.com/l/_1RaWDKlUAigd
https://dl.doubtnut.com/l/_7hFFjUFUK2w7


the situation when two dominant linked

alleles inhreitance.

Watch Video Solution

38. Coin one word or two words equivalents

for the following:

The individuals resembling one or the other

parental type through several generations.

Watch Video Solution

https://dl.doubtnut.com/l/_7hFFjUFUK2w7
https://dl.doubtnut.com/l/_fntCMYI2Sazy


39. Coin one word or two words equivalents

for the following:

the genetic phenomenon involving new

combination of genes.

Watch Video Solution

40. Coin one word or two words equivalents

for the following:

the characters linked to X and Y chromosomes.

Watch Video Solution

https://dl.doubtnut.com/l/_Ry766RyTXggp
https://dl.doubtnut.com/l/_G3KsKzmvEMqN


41. How many linkage groups are found in man

?

Watch Video Solution

42. In which two ways numerical changes

occur in the chromosomes?

Watch Video Solution

https://dl.doubtnut.com/l/_G3KsKzmvEMqN
https://dl.doubtnut.com/l/_tRkNb6HAcHlo
https://dl.doubtnut.com/l/_Y60Y0c1ILgol


43. How many different types of sex

determining mechanisms are found in

animals?

Watch Video Solution

44. How are mutations caused?

Watch Video Solution

https://dl.doubtnut.com/l/_HqikYIgNWOoc
https://dl.doubtnut.com/l/_vDvtIqeBdqVc


45. Name the sex chromatin bodies and the

cells in which they are visible.

Watch Video Solution

46. List any two mechanisms by which a

variant genotype is produced.

Watch Video Solution

47. What do you understand by aneupliody?

https://dl.doubtnut.com/l/_9SbqSGZmP7Ku
https://dl.doubtnut.com/l/_ZYUVsKF44w8Z
https://dl.doubtnut.com/l/_TCunAXGUfFAA


Watch Video Solution

48. Which disorder is caused in man by the

presence of one extra sex chromosome?

Watch Video Solution

49. What would be the disorder caused due to

presence of extra autosomal chrosome?

Watch Video Solution

https://dl.doubtnut.com/l/_TCunAXGUfFAA
https://dl.doubtnut.com/l/_fay2FE9bEcjo
https://dl.doubtnut.com/l/_ebIKhJNnwbAa
https://dl.doubtnut.com/l/_QmfEz4X7tYMr


50. What will be the sex of the offspring

developing from 44 A+xx zygote?

Watch Video Solution

51. What is allele?

Watch Video Solution

52. Who had proposed the chromosomal

theory of inheritance?

https://dl.doubtnut.com/l/_QmfEz4X7tYMr
https://dl.doubtnut.com/l/_mV5AKbXgI09e
https://dl.doubtnut.com/l/_STcVcKGC6L76


Watch Video Solution

53. Name the process antagonistic to linkage.

Watch Video Solution

54. Define pleiotropy.

Watch Video Solution

https://dl.doubtnut.com/l/_STcVcKGC6L76
https://dl.doubtnut.com/l/_Y6tdWDgTguuW
https://dl.doubtnut.com/l/_fLeJXNIB7ytW


55. What are the cuases of variations in

clones?Are identical twin clones of each other?

Watch Video Solution

56. Differentiate between back cross and test

cross.

Watch Video Solution

https://dl.doubtnut.com/l/_7gROdhhSyoWo
https://dl.doubtnut.com/l/_iPuZS9ZLuxD0


57. A black-colour cock when bred with white

coloured hen produced steel blue coloured

offspring and when inbred,black,white and

steel -blue coloured progeny were obtained:

This result is genetically explained as ..............

Watch Video Solution

58. A black-colour cock when bred with white

coloured hen produced steel blue coloured

offspring and when inbred,black,white and

https://dl.doubtnut.com/l/_hLw9vG0wRz0y
https://dl.doubtnut.com/l/_bol6iqbDHovV


steel -blue coloured progeny were obtained:

What will be the expected ratio of blck,steel-

blue and white progeny?

Watch Video Solution

59. Incomplete dominance and Codominance.

Watch Video Solution

60. In man four types blood groups A,B,AB and

O are controlled by three alleles of a

https://dl.doubtnut.com/l/_bol6iqbDHovV
https://dl.doubtnut.com/l/_w4LQ6LbL8k1e
https://dl.doubtnut.com/l/_b8x5SPVG9aTo


gene.What is the mechanism of inheritance of

the blood groups?

Watch Video Solution

61. What will be the blood groups of the

children of following matings?

Watch Video Solution

I
A
I
B

× I
B
I
B

https://dl.doubtnut.com/l/_b8x5SPVG9aTo
https://dl.doubtnut.com/l/_Njv2EWOihco7


62. What will be the blood groups of the

children of following matings?

Watch Video Solution

I
A
I
O

× I
A
I
B

63. What will be the blood groups of the

children of following matings?

Watch Video Solution

I
A
I
B

× I
A
I
B

https://dl.doubtnut.com/l/_hySVLkOYppTi
https://dl.doubtnut.com/l/_HrKi37mqt5wN
https://dl.doubtnut.com/l/_ELT6utJ7P6Uk


64. What will be the blood groups of the

children of following matings?

.

Watch Video Solution

I
O
I
O

× I
A
I
B

65. A child has blood group O. If the father has

blood group A and mother blood group B,

work out the genotypes of the parents and

the possible genotypes of the other

offsprings.

Watch Video Solution

https://dl.doubtnut.com/l/_ELT6utJ7P6Uk
https://dl.doubtnut.com/l/_9ja8JR3Aa9oA


66. Sometimes a gene which carries a major

disadvantage in a homozygous condition

confers an advangtage in heterozygous

condition.Explain with a suitable condition.

Watch Video Solution

67. With a suitable example,explain

pleiotropy.Which of the genes studied by

https://dl.doubtnut.com/l/_9ja8JR3Aa9oA
https://dl.doubtnut.com/l/_VqosQPXwvw7z
https://dl.doubtnut.com/l/_Fselu0zcvOEL


Mendel in pea is now considered to be

pleiotropic?

Watch Video Solution

68. What is pleiotropy ?Give one example?

Watch Video Solution

69. Who proposed the chromosome theory of

inheritance?State the chromosome theory of

inheritance.

https://dl.doubtnut.com/l/_Fselu0zcvOEL
https://dl.doubtnut.com/l/_eLmcJogd6N86
https://dl.doubtnut.com/l/_w1x3joH4Ggl1


Watch Video Solution

70. Correlate between behavior of genes and

chromosomes during meiosis in higher

organisms.

Watch Video Solution

71. List the main points of chromosome theory

of inheritance.

Watch Video Solution

https://dl.doubtnut.com/l/_w1x3joH4Ggl1
https://dl.doubtnut.com/l/_HXGJak8486oe
https://dl.doubtnut.com/l/_vU79BlcCBIpX


72. What are types of linkage?

Watch Video Solution

73. Explain linkage Group.

Watch Video Solution

74. Differentiate between:

Complete linkage and incomplete linkage.

https://dl.doubtnut.com/l/_vU79BlcCBIpX
https://dl.doubtnut.com/l/_uZtNcwMx9RDZ
https://dl.doubtnut.com/l/_wbCWV94fn7wn
https://dl.doubtnut.com/l/_aBUiqVEWL3g0


Watch Video Solution

75. Differentiate between:

Crossing over and cross over gametes.

Watch Video Solution

76. Write short notes on sex linkage

Watch Video Solution

https://dl.doubtnut.com/l/_aBUiqVEWL3g0
https://dl.doubtnut.com/l/_XjN1KndFCiMR
https://dl.doubtnut.com/l/_GxK9XPL5scjy


77. Give example of sex linked inheritance in

Drosophila.

Watch Video Solution

78. Why is a man unable to pass on a sex

linked gene to his son?

Watch Video Solution

79. Write a note on sex linked genes .

https://dl.doubtnut.com/l/_3oHM2O96Ivlq
https://dl.doubtnut.com/l/_UqkljxHaoLjs
https://dl.doubtnut.com/l/_482X9itDDgeP


Watch Video Solution

80. What do you understand by the term

recombination?

Watch Video Solution

81. Briefly mention the contribution of T.H.

Morgan in genetics.

Watch Video Solution

https://dl.doubtnut.com/l/_482X9itDDgeP
https://dl.doubtnut.com/l/_sQxxPUGutwzG
https://dl.doubtnut.com/l/_GJCH1bSRRQ9D
https://dl.doubtnut.com/l/_nKiqzAOFc9e9


82. Tabulate the types of mutations.

Watch Video Solution

83. List a few congenital defects in human

diagnosed by differential staining of

chromosomes.

Watch Video Solution

https://dl.doubtnut.com/l/_nKiqzAOFc9e9
https://dl.doubtnut.com/l/_YAqbGIeGhbqW


84. What is the significance of pedigree

analysis?

Watch Video Solution

85. What is the cross between the progeny of

 and the homozygous recessive parent

called? How is it useful?

Watch Video Solution

F1

https://dl.doubtnut.com/l/_JghTTu2WkPIP
https://dl.doubtnut.com/l/_HvvQo3Q9yJ3W


86. How did Mendel make sure that the plants

were true breeding?

Watch Video Solution

87. Make a table showing characters of pea

selected by Mendel.

Watch Video Solution

https://dl.doubtnut.com/l/_IX8xEBmErp0d
https://dl.doubtnut.com/l/_sTjK77tSHWld


88. Mention the advantages of selecting pea

plant for experiment by Mendel.

Watch Video Solution

89. Which plant was selected by Mendel for his

experiment and why?

Watch Video Solution

https://dl.doubtnut.com/l/_58sbuGDLG1lD
https://dl.doubtnut.com/l/_3rSh7d4bYRwF


90. Write the various conclusions and

hereditary principles drawn by Mendel from a

monohybrid cross.

Watch Video Solution

91. What do you mean by incomplete

dominance?Cite two examples.

Watch Video Solution

https://dl.doubtnut.com/l/_Kx9XPxAH3IA3
https://dl.doubtnut.com/l/_m1wxQcI6dyxW


92. What is linkage?

Watch Video Solution

93. How is sex determined?

Watch Video Solution

94. What are mutations? Define.

Watch Video Solution

https://dl.doubtnut.com/l/_AxFwUcVDJhi2
https://dl.doubtnut.com/l/_9X1TYIaKb8Dp
https://dl.doubtnut.com/l/_HgT07oLARtxC


95. Why is Mendel considered as Father of

Genetics?

Watch Video Solution

96. What is importance of Mendelism?

Watch Video Solution

97. A haemophilic carrier female marries a

normal man.With the help of Punnett square

https://dl.doubtnut.com/l/_dojFAngZD3DQ
https://dl.doubtnut.com/l/_Af0WgowVEfeo
https://dl.doubtnut.com/l/_KCLMkBxCSXf1


,show the type of progeny formed.

Watch Video Solution

98. A carrier woman for haemophilia marries a

haemophilic man.Show the type of progeny

formed with the help of punnet square?

Watch Video Solution

99. A carrier female for colourblindness

marries a man with normal vision.With the

https://dl.doubtnut.com/l/_KCLMkBxCSXf1
https://dl.doubtnut.com/l/_nJCaG8byYeSD
https://dl.doubtnut.com/l/_3XVaAocu4HMV


help of Punnet square show the types of

progeny formed.

Watch Video Solution

100. Explain the law of independent

assortment with a dihybrid cross.

Watch Video Solution

101. Describe quantitative inheritance takin

skin colour in man as an example.

https://dl.doubtnut.com/l/_3XVaAocu4HMV
https://dl.doubtnut.com/l/_e3PkcrJosTWZ
https://dl.doubtnut.com/l/_h3LQiMBeH1Bz


Watch Video Solution

102. Write a note on cystic fibrosis.

Watch Video Solution

103. What is the cause of phenylketonuria ?

Write symptoms.

Watch Video Solution

https://dl.doubtnut.com/l/_h3LQiMBeH1Bz
https://dl.doubtnut.com/l/_et2cceMSzjma
https://dl.doubtnut.com/l/_5LK2pW7zIOou


104. Write any four differences between

somatogenic and blastogenic variations.

Watch Video Solution

105. Mention the advantages of selecting pea

plant for experiment by Mendel.

Watch Video Solution

https://dl.doubtnut.com/l/_sxmaTotTUTwk
https://dl.doubtnut.com/l/_OeOdypzL7Q6C


106. Differentiate:

Dominance and Recessiveness

Watch Video Solution

107. Differentiate between the following :

Homozygous and heterozygous individual

Watch Video Solution

https://dl.doubtnut.com/l/_13D3TGnDIcPH
https://dl.doubtnut.com/l/_iXzhjaxjRvIu


108. Differentiate between the following :

Monohybrid and dihybrid cross

Watch Video Solution

109. A diploid organism is heterozygous for 4

loci, how many types of gametes can be

produced?

Watch Video Solution

https://dl.doubtnut.com/l/_Nmg6MZ7E46sp
https://dl.doubtnut.com/l/_q4aOt5NVqH36


110. Explain the Law of Dominance using a

monohybrid cross.

Watch Video Solution

111. Monohybrid Cross

Watch Video Solution

112. Define and design a test − cross?

Watch Video Solution

https://dl.doubtnut.com/l/_nxVi27N4BeMI
https://dl.doubtnut.com/l/_1GcFX3ZrPG7o
https://dl.doubtnut.com/l/_0IiCYYU43YoT


113. Using a Punnett square, work out the

distribution of phenotypic features in the first

filial generation after a cross between a

homozygous female and a heterozygous male

for a single locus.

Watch Video Solution

114. When a cross is made between tall plant

with yellow seeds (TtYy) and tall plant with

https://dl.doubtnut.com/l/_0IiCYYU43YoT
https://dl.doubtnut.com/l/_8QjaS7KZNAxx
https://dl.doubtnut.com/l/_52cEGGx115UR


green seeds(Ttyy),what proportions of

phenotype in the offspring could be expected

to be 

tall and green

Watch Video Solution

115. When a cross is made between tall plant

with yellow seeds (TtYy) and tall plant with

green seeds(Ttyy),what proportions of

phenotype in the offspring could be expected

https://dl.doubtnut.com/l/_52cEGGx115UR
https://dl.doubtnut.com/l/_qFeQgv7Kf2Ny


to be 

drawf and green?

Watch Video Solution

116. Two heterozygous parents are crossed. If

the two loci are linked what would be the

distribution of phenotypic features in 

generation for a dihybrid cross?

Watch Video Solution

F1

https://dl.doubtnut.com/l/_qFeQgv7Kf2Ny
https://dl.doubtnut.com/l/_myBqwH8HkfHY


117. Briefly mention the contribution of T.H.

Morgan in genetics.

Watch Video Solution

118. What is pedigree analysis? Suggest how

such an analysis, can be useful.

Watch Video Solution

https://dl.doubtnut.com/l/_CUAOQxXWKtWt
https://dl.doubtnut.com/l/_xYLxWoBbOhvw


119. A child has blood group O. If the father has

blood group A and mother blood group B,

work out the genotypes of the parents and

the possible genotypes of the other

offsprings.

Watch Video Solution

120. Explain the following terms with example:

Co-dominance

Watch Video Solution

https://dl.doubtnut.com/l/_XEYbztVTQAFU
https://dl.doubtnut.com/l/_0kxCvaiMAyrK


121. Explain the following terms with example:

Incomplete dominance

Watch Video Solution

122. What is point mutation? Give one

example.

Watch Video Solution

https://dl.doubtnut.com/l/_0kxCvaiMAyrK
https://dl.doubtnut.com/l/_VbRJB9vj3DAy
https://dl.doubtnut.com/l/_yu3c7SdZ7ccn


123. Who had proposed the chromosomal

theory of inheritance?

Watch Video Solution

124. Mention any two autosomal genetic

disorders with their symptoms

Watch Video Solution

125. Name one trait that does not blend.

https://dl.doubtnut.com/l/_OXEUBkXlKRfZ
https://dl.doubtnut.com/l/_AKDm61bPzGf0
https://dl.doubtnut.com/l/_g8sf1s6rAD3V


Watch Video Solution

126. Give one example of genetic trait for each

of the following in humans:

Lethality

Watch Video Solution

127. Give one example of genetic trait for each

of the following in humans:

Multiple allelism.

https://dl.doubtnut.com/l/_g8sf1s6rAD3V
https://dl.doubtnut.com/l/_1elW0mIQCKCh
https://dl.doubtnut.com/l/_Zop2YxJWcqtD


Watch Video Solution

128. What for symbols AA and Aa stand?

Watch Video Solution

129. What is pleiotropy ?Give one example?

Watch Video Solution

https://dl.doubtnut.com/l/_Zop2YxJWcqtD
https://dl.doubtnut.com/l/_SGoosxt5H53g
https://dl.doubtnut.com/l/_Kufy6ZKZUwxb


130. Name the plant that shows incomeplete

dominance in respect of the colour of its

flower.

Watch Video Solution

131. Write the genotype of man with blood

group 'A'

Watch Video Solution

https://dl.doubtnut.com/l/_Lpq6LhoE7N95
https://dl.doubtnut.com/l/_mFgd8ulfYLOu


132. What will be the genetic make up of an

organism which suffers from sickle cell

anaemia?

Watch Video Solution

133. What do the symbols square and circle in

a pedigree chart indicate?

Watch Video Solution

https://dl.doubtnut.com/l/_CVSzObXVWKgm
https://dl.doubtnut.com/l/_96ksD0GfTwZp


134. Why is male Drosophila regarded as

hertergametic?

Watch Video Solution

135. What is name of a cross in which white

eyed female are cross with red eyed males?

Watch Video Solution

https://dl.doubtnut.com/l/_bNiuHcJ00n9r
https://dl.doubtnut.com/l/_xxYK3TOZeLqI


136. Coin one word or two words equivalents

for the following:

The individuals having characters of both the

parents.

Watch Video Solution

137. Coin one word or two words equivalents

for the following:

the gametes having genetic constitutions

resembling one or the other parental type.

https://dl.doubtnut.com/l/_a0bgqjpaSQtK
https://dl.doubtnut.com/l/_BwAEyjnSpTEo


Watch Video Solution

138. Coin one word or two words equivalents

for the following:

The basis of failure of two genes to assort

independently.

Watch Video Solution

139. Coin one word or two words equivalents

for the following:

https://dl.doubtnut.com/l/_BwAEyjnSpTEo
https://dl.doubtnut.com/l/_t7VFM5kn8ead
https://dl.doubtnut.com/l/_To7DNDZTyhaS


the situation when two dominant linked

alleles inheritance.

Watch Video Solution

140. Coin one word or two words equivalents

for the following:

The individuals resembling one or the other

parental type through several generations.

Watch Video Solution

https://dl.doubtnut.com/l/_To7DNDZTyhaS
https://dl.doubtnut.com/l/_ZA7fO86sRjOJ


141. Coin one word or two words equivalents

for the following:

the genetic phenomenon involving new

combination of genes.

Watch Video Solution

142. Coin one word or two words equivalents

for the following:

the characters linked to X and Y chromosomes.

Watch Video Solution

https://dl.doubtnut.com/l/_3W6cSdFngUIp
https://dl.doubtnut.com/l/_ZLHO2Hs9g9wj


143. How many linkage groups are found in

man ?

Watch Video Solution

144. In which two ways numerical changes

occur in the chromosomes?

Watch Video Solution

https://dl.doubtnut.com/l/_ZLHO2Hs9g9wj
https://dl.doubtnut.com/l/_cYQnM1bgJUmH
https://dl.doubtnut.com/l/_CG7fDOppM3iF


145. How many different types of sex

determining mechanisms are found in

animals?

Watch Video Solution

146. How are mutations caused?

Watch Video Solution

https://dl.doubtnut.com/l/_Ctvfn8b4RuOP
https://dl.doubtnut.com/l/_a8qsGLEBPyZn


147. Name the sex chromatin bodies and the

cells in which they are visible.

Watch Video Solution

148. List any two mechanisms by which a

variant genotype is produced.

Watch Video Solution

149. What do you understand by aneupliody?

https://dl.doubtnut.com/l/_aLQxl9Mu369C
https://dl.doubtnut.com/l/_GYrwhYl2hQQH
https://dl.doubtnut.com/l/_5N5Ztk4qkjZR


Watch Video Solution

150. Which disorder is caused in man by the

presence of one extra sex chromosome?

Watch Video Solution

151. What would be the disorder caused due to

presence of extra autosomal chrosome?

Watch Video Solution

https://dl.doubtnut.com/l/_5N5Ztk4qkjZR
https://dl.doubtnut.com/l/_1gAFm9zGSJNp
https://dl.doubtnut.com/l/_Eduw0mGAjMeM
https://dl.doubtnut.com/l/_J8deFp1JYVa7


152. What will be the sex of the offspring

developing from 44 A+xx zygote?

Watch Video Solution

153. What is allele?

Watch Video Solution

154. Who had proposed the chromosomal

theory of inheritance?

https://dl.doubtnut.com/l/_J8deFp1JYVa7
https://dl.doubtnut.com/l/_mDJkhyyK0uLM
https://dl.doubtnut.com/l/_esAOvPHu68rN


Watch Video Solution

155. Name the process antagonistic to linkage.

Watch Video Solution

156. Define pleiotropy.

Watch Video Solution

https://dl.doubtnut.com/l/_esAOvPHu68rN
https://dl.doubtnut.com/l/_NqWNnQYNoxmo
https://dl.doubtnut.com/l/_CrSigCHffEli


157. What are the cuases of variations in

clones?Are identical twin clones of each other?

Watch Video Solution

158. Differentiate between back cross and test

cross.

Watch Video Solution

https://dl.doubtnut.com/l/_3ViNEdXriyih
https://dl.doubtnut.com/l/_xuSumBONlVSb


159. A black-colour cock when bred with white

coloured hen produced steel blue coloured

offspring and when inbred,black,white and

steel -blue coloured progeny were obtained:

This result is genetically explained as ..............

Watch Video Solution

160. Incomplete dominance and Codominance.

Watch Video Solution

https://dl.doubtnut.com/l/_bYr0j1NnrBGO
https://dl.doubtnut.com/l/_lOjDafhNwHAN
https://dl.doubtnut.com/l/_ir3dvj8NjTjY


161. In man four types blood groups A,B,AB and

O are controlled by three aleles of a

gene.What is the mechanism of inheritance of

the blood groups?

Watch Video Solution

162. What will be the blood groups of the

children of following matings?

Watch Video Solution

I
A
I
B

× I
B
I
B

https://dl.doubtnut.com/l/_ir3dvj8NjTjY
https://dl.doubtnut.com/l/_OP9V7mWRZzrG


163. What will be the blood groups of the

children of following matings?

Watch Video Solution

I
A
I
O

× I
A
I
B

164. What will be the blood groups of the

children of following matings?

Watch Video Solution

I
A
I
B

× I
A
I
B

https://dl.doubtnut.com/l/_zjDNmgKtYKMR
https://dl.doubtnut.com/l/_C52C211axhY2
https://dl.doubtnut.com/l/_O65OyHV5XIZB


165. What will be the blood groups of the

children of following matings?

.

Watch Video Solution

I
O
I
O

× I
A
I
B

166. A child has blood group O. If the father

has blood group A and mother blood group B,

work out the genotypes of the parents and

the possible genotypes of the other

offsprings.

Watch Video Solution

https://dl.doubtnut.com/l/_O65OyHV5XIZB
https://dl.doubtnut.com/l/_pcscn0fUuhf9


167. Sometimes a gene which carries a major

disadvantage in a homozygous condition

confers an advangtage in heterozygous

condition.Explain with a suitable condition.

Watch Video Solution

168. With a suitable example,explain

pleiotropy.Which of the genes studied by

https://dl.doubtnut.com/l/_pcscn0fUuhf9
https://dl.doubtnut.com/l/_8sWwi04CgPO7
https://dl.doubtnut.com/l/_GUrYz6lTaybW


Mendel in pea is now considered to be

pleitropic?

Watch Video Solution

169. What is pleiotropy?Give one example.

Watch Video Solution

170. Who proposed the chromosome theory of

inheritance?State the chromosome theory of

inheritance.

https://dl.doubtnut.com/l/_GUrYz6lTaybW
https://dl.doubtnut.com/l/_AQkn5mFp6wPQ
https://dl.doubtnut.com/l/_wEZEChehThtF


Watch Video Solution

171. Correlate between behaviour of genes and

chromosomes during meiosis in higher

organisms.

Watch Video Solution

172. List the main points of chromosome

theory of inheritance.

Watch Video Solution

https://dl.doubtnut.com/l/_wEZEChehThtF
https://dl.doubtnut.com/l/_9L8n4sDP4B6t
https://dl.doubtnut.com/l/_vsggV5IUdzMV


173. What are types of linkage?

Watch Video Solution

174. Explain linkage Group.

Watch Video Solution

175. Differentiate between:

Complete linkage and incomplete linkage.

https://dl.doubtnut.com/l/_vsggV5IUdzMV
https://dl.doubtnut.com/l/_cBGd6cfCSwQ2
https://dl.doubtnut.com/l/_kMG8ygGbJ7xi
https://dl.doubtnut.com/l/_FQ22S1Keq2xr


Watch Video Solution

176. Differentiate between:

Crossing over and cross over gametes.

Watch Video Solution

177. What is sex linkage?

Watch Video Solution

https://dl.doubtnut.com/l/_FQ22S1Keq2xr
https://dl.doubtnut.com/l/_EDgTmOsdP7z1
https://dl.doubtnut.com/l/_cXAU0OhQqpJO


178. Give examples of sex linked imheritance in

Drosophila.

Watch Video Solution

179. Why is a man unable to pass on a sex

linked gene to his son?

Watch Video Solution

180. Write a note on sex linked genes .

https://dl.doubtnut.com/l/_OJgwm24JXemv
https://dl.doubtnut.com/l/_Sd7kHLXfcg7q
https://dl.doubtnut.com/l/_u3uURVxwa2Mg


Watch Video Solution

181. What do you understand by the term

recombination?

Watch Video Solution

182. Briefly mention the contribution of T.H.

Morgan in genetics.

Watch Video Solution

https://dl.doubtnut.com/l/_u3uURVxwa2Mg
https://dl.doubtnut.com/l/_x8YQD2aBUje0
https://dl.doubtnut.com/l/_RBciFIXk8tDC
https://dl.doubtnut.com/l/_vMJg1PhHmWzx


183. Name the two main types of mutations

Watch Video Solution

184. List a few congenital defects in human

diagnosed by differential staining of

chromosomes.

Watch Video Solution

https://dl.doubtnut.com/l/_vMJg1PhHmWzx
https://dl.doubtnut.com/l/_r1yeEKGYTB6j


185. What is the significance of pedigree

analysis?

Watch Video Solution

186. What is the cross between the progeny of

 and the homozygous recessive parent

called? How is it useful?

Watch Video Solution

F1

https://dl.doubtnut.com/l/_eyUCqM98e5yZ
https://dl.doubtnut.com/l/_B3dSS387GRSK


187. How did Mendel make sure that the pea

plants were true breeding?

Watch Video Solution

188. Make a table showing characters of pea

selected by Mendel.

Watch Video Solution

https://dl.doubtnut.com/l/_81ub7LV91RHp
https://dl.doubtnut.com/l/_CMzSyln3ongZ


189. Mention the advantages of selecting pea

plant for experiment by Mendel.

Watch Video Solution

190. Which plant was selected by Mendel for

his experiment and why?

Watch Video Solution

https://dl.doubtnut.com/l/_RcWRUGiWgbCj
https://dl.doubtnut.com/l/_77X11K73RAya


191. Write the various conclusions and

hereditary principles drawn by Mendel from a

monohybrid cross.

Watch Video Solution

192. What do you mean by incomplete

dominance ?Give example.

Watch Video Solution

https://dl.doubtnut.com/l/_TEAi0qlyWf37
https://dl.doubtnut.com/l/_kBfAqsdN35ge


193. What is linkage?

Watch Video Solution

194. Define mutation.

Watch Video Solution

195. Why is Mendel considered as Father of

Genetics?

Watch Video Solution

https://dl.doubtnut.com/l/_rSFlyd1n94s1
https://dl.doubtnut.com/l/_8i2P880mqOQl
https://dl.doubtnut.com/l/_2iMbf9mEkPF7


196. What is the importance of Mendelism?

Watch Video Solution

197. A haemophilic carrier female marries a

normal man.With the help of Punnett square

,show the type of progeny formed.

Watch Video Solution

https://dl.doubtnut.com/l/_2iMbf9mEkPF7
https://dl.doubtnut.com/l/_gTDVOdRrMTxT
https://dl.doubtnut.com/l/_DB43QTLnsm2k


198. Carrier woman for colourblind married a

colourblind man.Show the type of progeny

formed with the help of Punnett square.

Watch Video Solution

199. A carrier female for colourblindness

marries a man with normal vision.With the

help of Punnet square show the types of

progeny formed.

Watch Video Solution

https://dl.doubtnut.com/l/_cTzIIbgEpPbq
https://dl.doubtnut.com/l/_2tzO54TZ0GjW


Exercise

200. Explain the law of independent

assortment with a dihybrid cross.

Watch Video Solution

201. Describe quantitative inheritance taking

skin color in man as an example.

Watch Video Solution

https://dl.doubtnut.com/l/_2tzO54TZ0GjW
https://dl.doubtnut.com/l/_XAhf7N8D4vQK
https://dl.doubtnut.com/l/_zEgrtHPBRhN9


1. Fill in the blanks with suitable words:

Human females are homogametic and males

are......... .

Watch Video Solution

2. Fill in the blanks with suitable words:

Haemophilia is a .............. disorder.

Watch Video Solution

https://dl.doubtnut.com/l/_DfHCujsU0ZPb
https://dl.doubtnut.com/l/_kDNyCKvFOZ9a


3. Fill in the blanks with suitable words:

X-chromosome was previously named X-body

by .......... .

Watch Video Solution

4. Fill in the blanks with suitable words:

Turner's syndrome is due to .............. of

chromosome ............... .

Watch Video Solution

https://dl.doubtnut.com/l/_LijX7uzzrX9B
https://dl.doubtnut.com/l/_gGz87PooaYyt
https://dl.doubtnut.com/l/_SGaEVLiVLpFs


5. Fill in the blanks with suitable words:

Klinefelter's syndrome is due to .......... of extra

......chromosome

Watch Video Solution

6. Fill in the blanks with suitable words:

down's sydrome is due to .............. of

chromosome.

Watch Video Solution

https://dl.doubtnut.com/l/_SGaEVLiVLpFs
https://dl.doubtnut.com/l/_VygkC54yAhjN
https://dl.doubtnut.com/l/_p6bkuST6G7o2


7. Fill in the blanks with suitable words:

DNA fingerprinting was invented by .............

Watch Video Solution

8. State true or false:

Colour blindness is a sex linked disorder

Watch Video Solution

9. State true or false:

Human males are AA + XY and females are AA

https://dl.doubtnut.com/l/_p6bkuST6G7o2
https://dl.doubtnut.com/l/_6oKjywbP69JY
https://dl.doubtnut.com/l/_4acCek6hApWo


+ XX.

Watch Video Solution

10. State true or false:

Haemophilia and colourblindness are

Mendilian disorders.

Watch Video Solution

11. State true or false:

Klinefelter syndrome and turner syndrome are

https://dl.doubtnut.com/l/_4acCek6hApWo
https://dl.doubtnut.com/l/_yTh4eVCmw7CO
https://dl.doubtnut.com/l/_vo1VnhMsSFDE


chromosome disorder

Watch Video Solution

12. State true or false:

In birds female has pairs of dissimilar sex

chromosomes ZW.

Watch Video Solution

13. State true or false:

Human beings normally have 24 pairs of

https://dl.doubtnut.com/l/_vo1VnhMsSFDE
https://dl.doubtnut.com/l/_2eN72JXyLrqQ
https://dl.doubtnut.com/l/_DoO6HNEEiGdr


chromosomes.

Watch Video Solution

14. Coin one word for the following

statements:

The ancestral history of an individual

represented by a chart.

Watch Video Solution

https://dl.doubtnut.com/l/_DoO6HNEEiGdr
https://dl.doubtnut.com/l/_okZX1pSlfBig


15. Coin one word for the following

statements:

The occurrence of only one representative of a

chromosome in an otherwise diploid cell.

Watch Video Solution

16. Coin one word for the following

statements:

Particular segment of DNA which controls one

character.

https://dl.doubtnut.com/l/_m4bC78PlcxBb
https://dl.doubtnut.com/l/_SkYs6kBAQ45v


Watch Video Solution

17. Coin one word for the following

statements:

Chromosomes other than sex chromosomes.

Watch Video Solution

18. Expand PKU.

Watch Video Solution

https://dl.doubtnut.com/l/_SkYs6kBAQ45v
https://dl.doubtnut.com/l/_Hp4TTNy52xTh
https://dl.doubtnut.com/l/_Mr5LvHQHSLDB
https://dl.doubtnut.com/l/_5bMgFYCBFc9R


19. Genic balance theory was proposed by :

A. Bridges

B. Morgan

C. Boveri

D. Lyon.

Answer:

Watch Video Solution

20. Males are XO and females XX in case of :

https://dl.doubtnut.com/l/_5bMgFYCBFc9R
https://dl.doubtnut.com/l/_igfImdy1eYzE


A. Squash bug

B. Fishes

C. Man

D. None of these.

Answer:

Watch Video Solution

21. A male child would be born to parents is :

A. Father is healtheir than the mother

https://dl.doubtnut.com/l/_igfImdy1eYzE
https://dl.doubtnut.com/l/_pNFcjzLsjDNJ


B. Mother eats well during pregnancy

C. The gametic composition of the child

includes XY combination of

chromosomes.

D. None of the above

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_pNFcjzLsjDNJ


22. The gametic composition of child includes

XX combination of chromosomes.

Watch Video Solution

23. What would be the ratio between colour

blind and normal individuals in 2nd

generation-progeny of colour blind man and

normal woman?

A. 

B. 

3: 1

1: 3

https://dl.doubtnut.com/l/_dqLvZ5IphFmQ
https://dl.doubtnut.com/l/_TnYsZb2mSBZx


C. 

D. .

Answer:

Watch Video Solution

0: 4

2: 2

24. Philadelphia chromosome is reported in

patients suffering from:

A. Insomia

B. Kidney stone

https://dl.doubtnut.com/l/_TnYsZb2mSBZx
https://dl.doubtnut.com/l/_i5Scxyx5UwEU


C. Leukaemia

D. Mental disorders

Answer:

Watch Video Solution

25. Genetic disorder due to trisomy of

chromosome 21 in humans is :

A. Down's syndrome

B. Turner's syndrome

https://dl.doubtnut.com/l/_i5Scxyx5UwEU
https://dl.doubtnut.com/l/_C4A5yev5da0C


C. Klinefelter's syndrome

D. None of these.

Answer:

Watch Video Solution

26. Human females are homogametic and

males are………..

Watch Video Solution

https://dl.doubtnut.com/l/_C4A5yev5da0C
https://dl.doubtnut.com/l/_0NWZv0ekXoz7


27. Fill in the blanks with suitable words:

Haemophilia is a .............. disorder.

Watch Video Solution

28. Fill in the blanks with suitable words:

X-chromosome was previously named X-body

by .......... .

Watch Video Solution

https://dl.doubtnut.com/l/_xNp6vFDrSBkw
https://dl.doubtnut.com/l/_BlkqoYOPVrZF


29. Fill in the blanks with suitable words:

Turner's syndrome is due to .............. of

chromosome ............... .

Watch Video Solution

30. Fill in the blanks with suitable words:

down's syndrome is due to .............. of

chromosome............

Watch Video Solution

https://dl.doubtnut.com/l/_uqxVktjpCKOy
https://dl.doubtnut.com/l/_myrzlOlZY0VG
https://dl.doubtnut.com/l/_hGgznB776s0h


31. State true or false:

Colour blindness is a sex linked disorder

Watch Video Solution

32. State true or false:

Human males are AA + XY and females are AA

+ XX.

Watch Video Solution

https://dl.doubtnut.com/l/_hGgznB776s0h
https://dl.doubtnut.com/l/_YzaqmQhA9REI


33. State true or false:

Klinefelter syndrome is caused due to extra X

chromosome.

Watch Video Solution

34. State true or false:

Haemophilia and coloublindness are Mendilian

disorders.

Watch Video Solution

https://dl.doubtnut.com/l/_bxKEq1tFPJf7
https://dl.doubtnut.com/l/_qXJpPrOfBE5u
https://dl.doubtnut.com/l/_q4dJqyYDqFNa


35. State true or false:

Klineflter syndrome and turner syndrome are

chromosoma disorder

Watch Video Solution

36. State true or false:

In birds female has pairs of dissimilar sex

chromosomal 2W.

Watch Video Solution

https://dl.doubtnut.com/l/_q4dJqyYDqFNa
https://dl.doubtnut.com/l/_7a61K5nxOo2V
https://dl.doubtnut.com/l/_rKuTr1Z8ZmH7


37. State true or false:

Human beings normally have 24 pairs of

chromosomes.

Watch Video Solution

38. Coin one word for the following

statements:L

A string of individuals homozygous for all

genes being considered.

Watch Video Solution

https://dl.doubtnut.com/l/_rKuTr1Z8ZmH7
https://dl.doubtnut.com/l/_iH7LXRvfwgRM
https://dl.doubtnut.com/l/_vzD0CSFiy7ZS


39. Coin one word for the following

statements:L

Particular segment of DNA which controls one

character.

Watch Video Solution

40. Coin one word for the following

statements:

Chromosomes other than sex chromosomes.

Watch Video Solution

https://dl.doubtnut.com/l/_vzD0CSFiy7ZS
https://dl.doubtnut.com/l/_PzvSFgghLuaQ


41. Expand PKU.

Watch Video Solution

42. Genic balance theory was proposed by :

A. Bridges

B. Morgan

C. Boveri

D. Lyon.

https://dl.doubtnut.com/l/_mKaeBTzNJkgn
https://dl.doubtnut.com/l/_ooVHdv2lEHS7


Answer:

Watch Video Solution

43. Males are XO and females XX in case of :

A. Squash bug

B. Fishes

C. Man

D. None of these.

Answer:

https://dl.doubtnut.com/l/_ooVHdv2lEHS7
https://dl.doubtnut.com/l/_1ovD1MBfsl0o


Watch Video Solution

44. If the female is carrier and male is

normal,what percentage of female offspring

will be haemophilic:

A. 0.25

B. 0.5

C. 0

D. 100%.

Answer:

https://dl.doubtnut.com/l/_1ovD1MBfsl0o
https://dl.doubtnut.com/l/_Mgcsvr3s4QWF


Watch Video Solution

45. Sickle cell anaemia is due to :

A. A virus

B. Iron deficiency

C. Haemoglobin deficiency

D. Genetic disorder.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Mgcsvr3s4QWF
https://dl.doubtnut.com/l/_4TCSrck3lEk0


46. A male child would be born to parents if

A. Father is healtheir than the mother

B. Mother eats well during pregnancy

C. The gametic composition of the child

includes XY combination of

chromosomes.

D. None of the above

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_4TCSrck3lEk0
https://dl.doubtnut.com/l/_SO3hUH7dtT3C


47. The gametic composition of child includes

XX combination of chromosomes.

Watch Video Solution

48. A man heterozygous for sickle cell anaemia

will show in his blood:

A. some normal and some sickle-shaped

cells

https://dl.doubtnut.com/l/_SO3hUH7dtT3C
https://dl.doubtnut.com/l/_MTxcBM5Trsq7
https://dl.doubtnut.com/l/_u4h9E2mvNKCy


B. all the erythrocytes having sickle like

shapes

C. more normal erythrocytes and a few

sickle-shaped cells.

D. None of the above

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_u4h9E2mvNKCy


49. What would be the ratio between colour

blind and normal individuals in 2nd

generation-progeny of colour blind man and

normal woman?

A. 

B. 

C. 

D. .

Answer:

Watch Video Solution

3: 1

1: 3

0: 4

2: 2

https://dl.doubtnut.com/l/_OBQgOBbLNJ0N


Watch Video Solution

50. Philadelphia chromosome is reported in

patients suffering from:

A. Insomia

B. Kidney stone

C. Leukaemia

D. Mental disorders

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OBQgOBbLNJ0N
https://dl.doubtnut.com/l/_QxeuvPqoDxEN


51. Genetic disorder due to trisomy of

chromosome 21 in humans is :

A. Down's syndrome

B. Turner's syndrome

C. Klinefelter's syndrome

D. None of these.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_QxeuvPqoDxEN
https://dl.doubtnut.com/l/_tcNy6w8ofKoa



